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202 04l 5,376 7,680 A 2,304
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-= 69,7603 * 18 = 180 12,557
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= 1,260,000
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401 AlEHIZL £ 0HY| 1,063,000 2,079,000 A 1,016,000
= 400,000
= 663,000
01 Al& H| 1,063,000 2,079,000 A 1,016,000
OZ3H=+=HM2AIE =87 X 24|
40,000,000 40,000
OZ22H2=HMelAlE 2AFI| =X (o0 & AR
X 28,000,000 28,000
OS3SMIHI SSHEXEAIE LA
800,000, 000& 800,000
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SN 22D
=

B gy »zael
el A3 B2l Y 4F A (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 1,650 3,500 A 1,850
ORANBXNRE A2 (BEM=X, B
X) 1,650,000 1,650
202 O4dl 4,032 5,760 21,728
01 =S LHAYI 4,032 5,760 AN1,728
O=J&el S2F& 0ddl  5,760,000& » 70% 4,032
HE2IHZAS 1,011,000 1,140,000 A 129,000
= 500,000
< 150,000
i 361,000
201 et 11,000 0 11,000
01 At 22l 11,000 0 11,000
OsXl B8 23 (HE2S M2 AY)
11,000, 000& 11,000
401 Al HIZ 201 Y] 1,000,000 1,140,000 A 140,000
= 500,000
< 150,000
i 350,000
01 A& HI 1,000,000 1,140,000 A 140,000
OHIE2E M2 AL 1,000,000, 000& 1,000,000
= 500,000
< 150,000
s 350,000
eEszA2(SL=H) 105,974 140,277 A 34,303
J| 105,974
207 RO 105,974 140,277 A 34,303
J| 105,974
01 284 105,974 140,277 A 34,303
Osd+=H sl 0/dEI 89
50,000, 000& 50,000
J| 50,000
O=2Z=H HHEAZAE 2LHY 4
55,974,000 55,974
J| 55,974
HY2IZH (BF D) 37,456 35,430 2,026
Jl2ddl(sZ ) 37,456 35,430 2,026
Jl2&l 37,456 35,430 2,026
201 L2l 26,526 26,730 A 204
01 At 22l 25,175 24,914 261
Oger==gH| 5,981,000 5,981
O= &l 8,070,000& 8,070
OSA gtz 160,000& » 1CH = 128 1,920
OZd=AI IXtx2  400,000& » 1CH » 128 4,800
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SN BAD
Mz HMSAHH (Z )
S Jl2ddl(sd ) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O8I dxz 52,000 = 104 ~ 12& 624
OH™EH AZ2E FH| 3,780
-QlBtIely 200,000& * 7CH = 33| * 90% 3,780
02 33249l 1,351 1,816 N 465
OdE&EH RXE=H| 1,087
-Gl s AR 1]
1,300,000 = 20CH * 5% * 70% 910
-2l E 4,000,000& * 3CH * 2% * 70% 168
-FAX 600,000 = 1CH = 2% * 70% 9
OMRA RHEES AIEE
22,000& = 104 ~ 12& 264
202 04| 1,680 2,400 NT20
01 2L Y| 1,680 2,400 NT20
Ot gR=& bl 2,400,000 = 70% 1,680
203 &R =&H| 4,200 3,600 600
04 ENSHLRE=AH| 4,200 3,600 600
ORANSELERFAY| 350,000 = 128 4,200
405 XHo&HF S HI 5,050 2,700 2,350
01 JHMY =2 E F S H 5,050 2,700 2,350
OAIR 4l A 2] 250,000& = 504 1,250
OAIR 4 A& o X 2 200,000& * 504 1,000
OAMNR A 2taet0] & 55 2¢ 2,800,000& 2,800
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